
Berechne:

Vorgänger 267 974 286 785
Zahl 422 696

Nachfolger

Vorgänger 299 407
Zahl 704 305

Nachfolger 695 067

Vorgänger 412 635 147 124
Zahl 673 635

Nachfolger

Vorgänger 380 350
Zahl 498 914

Nachfolger 392 057

 © www.mathiki.de © www.mathiki.de

Vorgänger und Nachfolger bestimmen
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Berechne:

Vorgänger 422 695 267 974 286 785
Zahl 422 696 267 975 286 786

Nachfolger 422 697 267 976 286 787

Vorgänger 704 304 299 407 695 065
Zahl 704 305 299 408 695 066

Nachfolger 704 306 299 409 695 067

Vorgänger 412 635 147 124 673 634
Zahl 412 636 147 125 673 635

Nachfolger 412 637 147 126 673 636

Vorgänger 392 055 380 350 498 913
Zahl 392 056 380 351 498 914

Nachfolger 392 057 380 352 498 915
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